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.Sarnple Froblesm: 1

Samplc Problem 1 Aa clevator cab of mass m (=920 kg)
moves from street level 1o the top of the World Trade Center in
New York, a height & = 412 m above the ground. W hat 1s the
change in the gravitational potential engrgy of the vub?
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1l

i

]

Sample Problem 2 The spring ofa spring gun is compressed o -

distance d of 3.2 cm from its relaxed state, and & ball of mass m
-{*+ 12 g} is put in the barrel. With what speed will the ball leave

the barrel once the gun is Ared? The force constant & of the.spring
*is .5 N/em. Assume no friction and a:horizontal gun bariel.
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" filled with passengers to a hesght of 3= 25 m, trom wiwh n
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Sazple Problem 4 The potential energy function for the force

between two &toms in s diatomic molecule can be expressed
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. Sample Problem 5 In a certain system of particles confined to
. the xj» plane, the force has the form F(x, y)= F,i+ F,j=
— kyl — kx}, where k is a positive constant, (A particle located at
an arbitrary point (x, y) is pushed toward the diagonal linc y =
~ x by this force. You can verify this by drawing the line y = —x

@) (Wm/k—) g 'WW"' from (0.0) L(2,0) 1+ Work pram(a,0) Lo(ay)
Fa Fuls Fw--kr-kxz (o T 5
(k) N e e

3",_,‘ - - )
fﬁﬂ& -1 = FdS 1+ /Fds ’ L 'd"’Pnha *
=0 1=t M.zl/ -

wac.d/x. + Fyoly + / /\xd?r “eaf” ~ i~
/th.d/u */’C7"‘?+ Mkad?




Pra
)

i

- [Pz

“ s e

’“/Fmdm.+ /FJOLJ

f—kgdn;}f_mcoa -gr—-K

F please visit us at http://www.phycity.com

< -rJ‘Ka dne 1‘/:/<>LOC(7

w =&KX

/ Kxo(a

em,pmué\«

= /|- l<3 c(/u.
becames xz &
= j—KbM + 0
W=D
= —-Kb
K [x’o
<W6‘§,"‘~>Pan\-m = -Kba _ _ K als
v e ——
x( Monn - - Keab |
Now ( Wostke =~
faln-3j = F-ds

prme—. e aan

e



———

'ﬁlj~

¥’ . pléase visit-us-at hitp:/\iww.phycity.com .

4 >~ - —
.
7 i =
- L. -
N +

> hcos g

= dp
DR (g g comstant )

x
—
-
g
&
2
it
£
&
L

1
|
Py
(Tr

(W) 5 &
C pata-t = LK o &«Nfcm?a

- aé. '.& s;o'n(f_;;g( |
@)@ i
= _Kd*t -O—lg_‘f- | r

@aﬁ.—ﬂi; ‘K@\ | ®

Y. , ' ‘
cq @,@ Mc/@‘we conlucde Uhal M/,-—M/,,g.l/(/',’

(144, o< . ‘ “”Ldojm’-d@”z c’-"g U /4q_ﬂ‘. 60&02022/ 4&?7






